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Impervious Area = 7.32 Rv = 0.009(I)+0.05 0.70

0.1667 P (1 year storm) 2.50

72% Impervious

Pervious Area = 2.87 P = 1.14

1.78

Cn Value 93

Ia = (200/Cn)-2

0.1505

0.06

qo  = qo /qi  * qi)

1-year post developed peak discharge

From  Figure D-11.1

925 csm/in qi = qu AQa

26.21

Ratio of storage to Runoff Volume

Vs/Vr = 0.683 - 1.43(qo /qi ) + 1.64(qo/qi)^2 - 0.804(qo/qi) 3̂

Vs/Vr 0.648

Channel Protection Storage Volume

If qi  less than or equal to 2 no Cpv is required

Peak Outflow discharge

From Figure  D11.2

qo /qi (T-24 hrs) 0.025

1.154

Vs 0.98

Vs 42,668

0.655

10.19Site Area =

CHANNEL PROTECTION VOLUME

Vs = (Vs/Vr) * Vr

Vs


